
 

 

 Directions (1 – 3): In each of the following 

questions, select the related letter/ word/ 

number from the given alternatives. 

(1 – 3): 

/ /

1. World Bank : Washington :: ? : ? 

fo'o cSad % okf'kaxVu %% \ % \ 

(A) International Monetary Fund : 

NewYork/varjkZ"Vªh; eqnzk dks"k % U;w;kWdZ  
    (B) International Monetary Fund : 

    Washington/varjkZ"Vªh; eqnzk dks"k % okf'kaxVu 

    (C) International Monetary Fund :        

Europe/varjkZ"Vªh; eqnzk dks"k % ;wjksi   

(D) International Monetary Fund : 

London/varjkZ"Vªh; eqnzk dks"k % yanu 

2. 26 : 65 :: 170 : ? 
    (A) 427  (B) 420 

    (C) 424  (D) 257 

3. ILOR : OKGC :: ABKD : ? 

    (A) OKGC  (B) WSUQ 

    (C) WUSQ  (D) WUKQ 

Directions (4 – 6) : Find the odd 

word/letters/number pair/number from the 

given alternatives. 

(4 – 6) : 

4.  

   (A) Ankara/vadkjk (B) Bangkok/cSadkd 

   (C) Thailand/FkkbySaM (D) Doha/nksgk 

5.  

   (A) (9 – 79)  (B) (13 – 167) 

   (C) (17 – 288) (D) (15 – 223) 

6.  

   (A) CPA  (B) REB 

   (C) QUD  (D) AOT 

7. Arrange the given words in Alphabetical 

Order and choose the alternative word that 

comes in middle. 

fn, x, 'kCnksa dks o.kZekyk ds vuqlkj O;ofLFkr djsa vkSj eè; 

eas vkus okys 'kCn dk p;u djsaA 

(1) Administracion  (2) Admin 

(3) Adminiculum  (4) Administer 

(5) Admissible 

 (A) Admissible (B) Administracion 

 (C) Administer (D) Adminiculum 

8. Choose the correct alternatives from the 

 

 

 

 

given ones that will complete the series. 

fuEu fodYikas eas ls lgh fodYi dk p;u djas tks nh xbZ 

Jà[kyk dks iwjk djsxkA 

_ c_ d _ a _ ba _ bdc_ _ b 

   (A) cabdcad  (B) abcddca 

   (C) cabddac  (D) abcdcad 

9. The difference between a mother's age and the 

sum of her two daughter's age is 8 years. If the 

age of mother is 44 years, then find the average 

age of her two daughters? 

ekrk dh vk;q rFkk mldh nks ifq=;kas dh vk;q ds ;ksx dk 

varj 8 o"kZ gSA ;fn ekrk dh vk;q 44 o"kZ gS] rks mldh nks 

iqf=;ksa dh vkSlr vk;q Kkr dhft,\ 

   (A) 22 years/ o"kZ  (B) 18 years/ o"kZ 

   (C) 20 years/o"kZ  

   (D) cannot determine/ Kkr ugha dj ldrsA 

10. If P + Q means P is the father of  Q, P – Q 

means P is the wife of Q, P × Q means P is the 

brother of Q and P ÷ Q means P is the daughter 

of Q. Then M + G × C ÷ S 

;fn P + Q dk vFk P, Q dk firk gS] P – Q dk vFk P 

, Q dh iRuh gS] P × Q dk vFk P, Q dk HkkbZ gS rFkk P 

÷ Q dk vFk P, Q dh iq=kh gSA rks M + G × C ÷ S 

(A) M is the grandfather of S/ M, S dk nknk gSA 

   (B) S is the wife of M/ S, M dh iRuh gSA 

   (C) C is the son of G/ C, G dk iq= gSA  

   (D) None of these/ buesa ls dkbsZ ugha

Directions (11-13) : In the following questions, 

a series is given with one terms missing. Choose 

the correct alternative from the given ones that 

will complete the series: 

(11 – 13): 

11. 1000, 600, 700, ? 

   (A) 1400   (B) 2100 

   (C) 1000  (D) 1500 

12. 1.125, 4.25, 10.5, ? 

   (A) 21  (B) 22 

   (C) 23  (D) 25 

13. 9, 16, 28, ? 

   (A) 54  (B) 52 

   (C) 56  (D) 50 

14. A is taller than B who is shorter than C. D 

is taller than E but shorter than B. C is 

shorter than A. Who is the tallest?  
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A, B ls yEck gS tk C ls NksVk gSA D, E ls yEck gS] 

ijUrq B ls NksVk gSA C, A ls NksVk gS lcls yEck dkSu 

gSA

   (A) B  (B) A 

   (C) E   (D) C 

15. In a Coded language, if WRITE is coded as 

DIRGV, then FRIEND is coded as 

fdlh dwV Hkk"kk ea]s ;fn WRITE dk DIRGV dwfVr 

fd;k tkrk gS] rks FRIEND dks dwfVr fd;k x;k gSA 

   (A) UIRVMW (B) URIVMW  

   (C) UIRBWM (D) URIVWM 

Direction (16-18) : In question numbers 16 to 

18, select the missing number from the given 

responses. 

(16 – 18): 16 18 

16.  

 
   (A) 56  (B) 350 

   (C) 343  (D) 49 

17.  

 
   (A) 4   (B) 2 

   (C) 12  (D) 5 

18.  

 

 

 

 

   (A) 7   (B) 5 

   (C) 3   (D) 1 

19. A man starts walking from a point A toward 

South. He walks 15m and turns to right. Then 

he walks 20m and turns to South. Again he 

walks 15m and turns to right. Finally he walks 

20m. Find the distance between initial position 

and final position. 

,d vkneh fcUnq A ls nf{k.k dh rjQ pyuk vkajHk djrk 

gSA og 15 ehVj pyrk gS vkSj nk,a eqM+ tkrk gSA rc og

20 ehVj pyrk gS vkSj nf{k.k dks eqM+ tkrk gSA fQj l

15 ehVj pyrk gS vkSj nk,a eqMr+k gS! vra eas og 20 ehVj 
pyrk gSA vkjfEHkd LFkku ls vafre LFkku dh nwjh Kkr 

dhft,\ 

   (A) 50 m/eh-  (B) 75 m/ eh- 

   (C) 40 m/ eh-  (D) 45 m/ eh-

Direction (20) : Two statements are given here 

which are followed by two conclusions. You 

have to consider the two statements to be true 

even if they seem to be at variance from 

commonly known facts. You have to decide 

which of the given conclusions, if any, follow 

from the given statements. 

(20): 

20. Statements:/  

1.  Some Printers are Wall. 
dqN fizaVj nhokj g!S  

   2.  Some Scanners are Printer. 
dqN LdSuj fizaVj gS 

  Conclusions:/

   I. Some Printers are Scanner. 
     dqN fizaVj LdSuj gS 

   II. All Walls are Scanner. 
      lHkh nhokj LdSuj gSA 

   (A) Both I and II follows 

fu"d"k I vkSj II nksuksa vuqlj.k djrs gSA  

   (B) Neither I nor II follows 

u rk I u II vuqlj.k djrk gSA 

   (C) Only conclusion II follows 

dsoy fu"d"kZ II vuqlj.k djrk gSA   

   (D) Only conclusion I follows 

dsoy fu"d"kZ I vuqlj.k djrk gSA 

21. If 5 × 9 × 4 = 235, 7× 4 × 9 = 327, then 

    7 × 25 × 16 = ? 

;fn 5 × 9 × 4 = 235, 7× 4 × 9 = 327 gS] rk   7 × 

25 × 16 = ?

   (A) 457  (B) 754 

   (C) 72516  (D) 16257 

22. Find the number of cubes ? 

?kuksa dh la[;k Kkr dhft, \ 

Question figure:/ 

 
   (A) 20  (B) 24 

   (C) 28  (D) 22 

23. Which answer figure will complete the 

pattern in the following question figure? 
dkSu&lh mÙkj&vkd`fr iz'u&vkd`fr ds izfr:i dks iwjk 

djsxh \ 



Question figure/

 
   (A)   

 

 

   (B)  

 

    

   (C)  

    

 

   (D) 

 

 

24. A piece of paper is folded and cut. From the 

figures given, indicate how it will appear when 

opened 

;fn fdlh dkxt dks n'kk;s fp= vuqlkj eksM+dj dkVk 

tk,] rks [kksyus ij og fdl mÙkj vkd`fr tSlk fn[kkbZ 

nsxk\ 

Question figure/

 

 

 

 

 

 

 

 

   (A)    

 

   

 (B) 

  

 

 (C) 

   

    

 

 (D) 

 

 

 

25. Mirror is placed on the line MN, then which of 

the answer figures is the right image? 

;fn ,d niZ.k dks js[kk ij j[kk tk,] rks nh xbZ mÙkj 

vkd̀fr;kas eas ls dkSu&lh vkd`fr iz'u vkd`fr dk lgh 

izfrfcEc gksxh\ 

Question figure/

 
 

   (A)  

 

 

   

   (B)  

 

 

   (C)    

 

 

 

   (D)  

 

 

 

26. The upper and lower portions in common 

type of bifocal lenses are respectively 

Qksdy ysal eas lkekU; Åijh vkSj uhpys Hkkx Øe'k% gkrs  

gS & 

   (A) concave and convex/vory vkSj mÙky  

   (B) convex and concave/ mÙky vkSj vory 

   (C) both concave of different focal    lengths/ 

nksuksa vory fofHkUu Qksdy yackbZ d  

   (D) both convex of different focal lengths/ 
    nksuksa mÙky] fofHkUu Qksdy yackbZ ds 

27. Which state has become the India’s first 

state to launch free injectable contraceptive for 

women? 
dkSu &lk jkT; efgykvks dss fy, fu%'kqYd xHkfujks/kd 

btaDs'ku dh 'kq:vkr djus okyk Hkkjr dk igyk jkT; cuk 

gS\ 

   (A) Delhi/ fnYyh  (B) Haryana/ gfj;k.kk 

   (C) Maharashtra/ egkjk"V` (D) Gujrat/ xqtjkr 

28. Who was the Chief Justice of India when 

Public Interest Litigation (PIL) was 

introduced to the Indian Judicial system? 
tc tufgr ;kfpdk is'k dh xbZ Fkh rc Hkkjrh; U;kf;d 

iz.kkyh eas Hkkjr ds e[q; U;k;/kh'k dkSu Fks\ 

   (A) M Hidayatullah/ ,e fgnk;rqYyk   



   (B) AM Ahmadi/ , ,e vgenh 

   (C) PN Bhagwati/ ih ,u Hkxorh   

   (D) AS Anand/ , ,l vkuan 

29. Shishu, Kishor and Tarun are the schemes of : 

^f'k'kq* ^fd'kksj* vkSj ^r#.k* fdldh ;kstuk,a gSa\ 

(A) Regional Rural Banks/ {ks=h; xzkeh.k cSdksa   dhA 

   (B) Micro Units Development & Reliance 

   Agency Ltd. (MUDRA)/ ekbØks  ;fwuV~l MsoyiesaV 

,.M jhQkbuSal ,tsalh fy- (MUDRA) dhA 

   (C) Small Industries Development Bank of 

    India/Hkkjrh; y?kq m|ksx fodkl cSad dhA   

   (D) Industrial Development Bank of India/ 
Hkkjrh; vkS|ksfxd fodkl cSad dhA 

30. Which bank has become the first Indian 

bank to launch bio-degradable prepaid gift 

cards? 
dkSu&lk cSad tSo&fMxzsMscy izhisM+ fxÝV IykfLVd dkMZ 

ykWUp djus okyk igyk Hkkjrh; cSad cu x;k gS\ 

   (A) Axis Bank/ ,fDll cSad   

   (B) Syndicate Bank/ flfMdsaV caSd 

   (C) State Bank of India/ LVsV cSad vkWQ bafM;k  

   (D) IDBI Bank/ vkbZ-Mh-ch-vkbZ cSad 

31. The book ‘‘The man who could never say No’’ 

has been authored by whom? 

iLqrd ‘‘n esu gw dqM usoj ls uks’’ fdlds }kjk fy[kh xbZ 

gS\ 

   (A) N N Saxena/ ,u ,u lDlsuk   

   (B) Vikram Seth/ foØe lsB 

   (C) S Muthiah.,l eqFkS;k   

   (D) Gopalkrishna Gandhi/ xksiky Ñ".k xka/kh 

32. Which one of the following is the correct 

sequence of employment generation by the 

different sectors of Indian Economy? 
fuEufyf[kr eas ls dkSu Hkkjrh; vFkOZ;oLFkk ds fofHkUu {ks=kas 

ls jkstxkj l`tu dk lgh vuqØe gSa\ 

(A) Primary > Secondary > Tertiary/ izkFkfed > 

ekè;fed > r`rh;d   

(B) Primary > Tertiary > Secondary/ izkFkfed > 

r`rh;d > ekè;fed 

(C) Tertiary > Primary > Secondary/ r`rh;d > 

izkFkfed > ekè;fed   

(D) Tertiary > Secondary > Primary/ r`rh;d > 

ekè;fed > izkFkfed 

33. Principle of Hydrogen Bomb is based on 

gkbMªkstu ce fdl fl)kar ij vk/kkfjr gSa\ 

   (A) nuclear fission/ ijek.kq fo[kaMu ij  

   (B) nuclear Radioactive disintegration/ ijek.kq 

jsfM;k/kehZ fo?kVu ij 

   (C) Nuclear fusion/ ukfHkdh; lay;u ij  

   (D) either nuclear fission or nuclear  fusion/ ;k 
rks ijek.kq fo[kaMu ;k ukfHkdh; lay;u ij 

34. Spring tides occur when ______. 

oalr Tokj rc vkrs gSa] tc --------------A 

(A) the moon, the sun and the earth are in the 

same line/ panzek] lw;Z vkSj i`Foh ,d js[kk esa gksrs gS 

(B) the sun is closest to earth/ lw;Z i`Foh ds lcls 

fudV gksrk gS 

(C) the moon is farthest from earth/ lw;Z i`Foh ds 

lcls nwj gksrk gS   

(D) the earth is at right angles with the sun and 

the moon/ iF̀oh lw;Z vkSj iF̀oh ,d js[kk eas gksrs gS 

35. Who is the inventor of www(world wide web) 

WWW ds vfo"dkjd dkSu gS\ 

   (A) Vinod Dham/ fouksn nke   

   (B) Sir Johan Dalton/ lj tksgku MkYVu 

   (C) Tim Berners lee/ fVe cuZlZ yh   

   (D) Bill gates/ fcy xsV~l 

36. The Vijayanagara empire received its death 

blow at the battle of 

fot; uxj lkezkT; ij l?akkfrd izgkj fdl ;q) eas gvqk\ 

(A) Talikota in 1565/ rkfydksVk ea 1565 bZ- ea  

   (B) Panipat in 1661/ ikuhir esa 1661 bZ- es 

   (C) Talikota in 1661/ rkfydksVk ea 1661 bZ- eas  

   (D) Raichur in 1510/ jk;pwj ea 1510 bZ- ea 

37. Chapchar Kut is a festival celebrated in the 

State of 

pki pj dqV R;ksgkj fdl jkT; eas euk;k tkrk gaS\ 

   (A) Arunachal Pradesh/v:.kkpy izns'k  

   (B) Assam/vle 

   (C) Mizoram/fetksje  (D) Sikkim/ flfDde 

38. Which of the following Acts introduced 

communal electorate in India? 
Hkkjr eas fuEu eas ls fdl vfèkfu;e us lkiaznkf;d ernkrkvkas 

dh 'kq:okr dh gS\ 

   (A) Indian Council Act, 1861/ Hkkjrh; ifj"kn~ 

      vfèkfu;e 1861  

   (B) Indian Council Act, 1892/ Hkkjrh; ifj"kn~ 

      vfèkfu;e 1892 

   (C) Indian Council Act, 1909/ Hkkjrh; ifj"kn~ 

      vfèkfu;e 1909  

   (D) Government of India Act, 1919/ Hkkjr  ljdkj 

vfèkfu;e 1919 

39. Which one of the following is not an example 

of eukaryotic organism? 

fuEufyf[kr esa ls dSku ;wdsfj;sfVd tho dk mnkgj.k ugha 

gS\ 

   (A) Yeast/ [kehj (B) Bacteria/ cSDVhfj;k 

   (C) Plant/ ikSèks (D) Human being/ euq"; 

40. Sharda Act fixed the minimum age of 

marriage of girls and boys respectively as- 
'kkjnk vfèkfu;e eas Øe'k% yMf+d;kas vkSj yMd+kas ds fookg 

dh U;wure vk;q r; dh xbZ Fkh & 



   (A) 12 and 16 (B) 14 and 18 

   (C) 15 and 21 (D) 16 and 24 

41. Heat given to a body which raises its 

temperature by1ºC is known as - 

fdlh fi.M dks nh xbZ m"ek] tks mlds rkieku dks 1ºC 

c<k+ ns] D;k dgykrh gS\ 

   (A) water equivalent/ ty rqY;kad   

   (B) thermal capacity/ rkih; {kerk 

   (C) specific heat/ fof'k"V m"ek   

   (D) temperature gradient/ rkieku izo.krk 

42. Which one of the following schedules of the 

Constitution of India contains provision 

regarding anti-defection? 

Hkkjr ds lfaoèkku eas fuEufyf[kr eas ls fdl ,d vuqlwph eas 

fojksèkh i{kikr dk izkoèkku gSa\ 

   (A) Second Schedules/ nwljh vuqlwph  

   (B) Fifth Schedules/ ikapoh vuqlwph 

   (C) Eighth Schedules/ vkBoha vuqlwph  

   (D) Tenth Schedules/ nloha vuqlwph 

43. The new Independent Directors of India Post 

Payments Bank (IPPB)- 

bafM;ka iksLV isesVal caSd ds u, Lora= fuoZkgd gS& 

(A) Girraj malik and Anupam Seth/ fxjjkt efyd 

vkSj vuqie lsB   

(B) Vinod Saxena and Nitin Sharma/ fouksn lDlsuk 

vkSj fufru 'kekZ 

(C) K G Karmakar and Gauri Shankar/ ds-th 

dekZdj vkSj xkSjh 'kadj  

(D) Jai Singh Narvaria and Trilok Chand Saini/ 
t; flag vkSj f=yksd pkan lsuh 

44. Bimbisara was the king of which dynasty? 

fcafclkj fdl lkezkT; ds jkTkk Fksa\ 

   (A) Haryanka/ g;Zad (B) Maurya/ ekS;Z 

   (C) Shunga/ 'kqax (D) Nanda/ uank 

45. The National Disaster Management 

Authority (NDMA) has conducted its first ever 

mock exercise on forest fire in state? 
jk"Vªh; vkink izcaèku izkfèkdj.k us fdl jkT; eas taxyksa dh 

vkx ij dkcw ikus ds fy, igyk Ñf=e vH;kl fd;k gSa\ 

   (A) Madhya Pradesh/ eè; izns'k   

   (B) Uttarakhand/ mÙkjk[k.M 

   (C) Jharkhand/ >kj[kaM (D) Odisha/ mM+hlk 

46. Light waves projected on oil surface show 

seven colours due to the phenomenon of- 
tc izdk'k rjax dks lrg ij iz{ksfir fd;k tkrk gS] rks 

fdl izfØ;k ds dkj.k lkr jax fn[kkbZ nsrs gS \ 

   (A) polarisation/ /kqzohdj.k (B) refraction/ viorZu 

   (C) reflection/ ijkorZu  (D) interference/ bUVfQZjUl 

47. Who discovered bacteria? 

cSDVhfj;k dh [kkst fdlus dh Fkh \ 

   (A) Fleming/ Ýysfeax (B) Lamble/ yEcy 

   (C) Temin/ Vsfeu  (D) Leeuwenhoek/ Y;wosUgkWd 

48. The Government has renamed MNREGA 

scheme and the name associated with the 

scheme is that of 
ljdkj }kjk eujsxk ;kstuk ds uke eas ifjoruZ fd;k x;k 

FkkA bl ;kstuk dk uke fdlls lacafèkr gSa\ 

   (A) Rajeev Gandhi/ jktho xkaèkh   

   (B) Indira Gandhi/ bafnjk xkaèkh 

   (C) Mahatama Gandhi/ egkRek xkaèkh  

   (D) Jawaharlal Nehru/ tokgj yky usg: 

49. The Factory Act of 1891 in India was enacted 

to- 

Hkkjr eas o"kZ 1891 dk dkj[kkuk vf/kfu;e D;ksa ykxw fd;k 

x;k Fkk\ 

   (A) improve the condition of labour in 

        India/ Hkkjr eas Jfedksa dh fLFkfr eas l/qkkj ds    fy,A 

   (B) ensure greater governmental control 

        over industry in India / Hkkjr eas m|ksxksa ij                       

vf/kdkf/kd 'kkldh; fu;U=.k lqfuf'pr djus ds fy,A 

(C) provide a level playing field for    English 

manufacturers/ vaxzst mRikndksa ds fy, leku volj 

miyC/k djokus ds fy,A   

   (D) enable greater political control over 

Indian industry/ rkfd Hkkjrh; m|ksx ij vfèkdkfèkd 

jktuhfrd fu;U=.k fd;k tk ldsA 

50. Who among the following was associated 

with the formulation of the basic ideas of the 

Mahayana Buddhism ? 
buesa ls dkSu ^egk;ku ckS)er* ds ewy fopkjksa ds fu:i.k 

ls lacafèkr Fkk\ 

   (A) Nagarjuna/ ukxktqZu   

   (B) Kashyapa Matanga/ d';i ekrax 

   (C) Menander/ feuk.Mj   

   (D) Kanishka/ dfu"d 

51. Find the least number which must be 

subtracted from 9886 to make it a perfect 

square? 

og NksVh ls NksVh la[;k ftl 9886 ls ?kVkus ij ,d iw.kZ 

oxZ la[;k izkIr gks lds \ 

    (A) 86  (B) 85 

  (C) 95  (D) 100 

52. A canteen requires 112 kgs of rice for 8 

days. Find the quantity of rice required for 

January and February (not in leap year) 

together? 
,d Hkkstuky; eas 8 fnukas ds fy, 112 fdxkz - pkoy dh 

vko';drk gS ! mls tuojh vkSj Qjojh (vfèk o"kZ eas ugha) 
ekg ds fy, pkoy dh ek=k Kkr dhft,\ 

  (A) 862 kgs/ fdxzk- (B) 826 kgs/ fdxzk- 

  (C) 850 kgs/ fdxzk- (D) 870 kgs/ fdxzk- 

53. Two adjacent sides of a parallelogram are 11 

cms and 60 cms. The diagonal joining the end 



points of these two sides is 61 cms. The area of 

the parallelogram (in sq.cms) is 

,d lekarj prqHkZt dh nks vklUu Hkqtk,a 11 lseh- vkSj 60 

lesh- dh gS! bu nksukas Hkqtkvkas dks fljksa dks tksMu+s okyk 

fod.kZ 61 lesh- gS! lekraj prqHkqZt dk {ks=Qy fdruk (oxZ 

lseh-) gksxk\ 

  (A) 671  (B) 330 

  (C) 660  (D) 720 

54. A and B together can do a piece of work in 30 

days, B and C together can do it in 20 days. A 

and C together can do it in 20 days. Three 

working together can finish the work in. 

A vkSj B feydj fdlh dke dks 30 fnu eas dj ldrs g]S 

B vkSj C feydj mls 20 fnukas eas dj ldrs gS ! A vkSj

C feydj mls 20 fnu esa dj ldrs gS! rhukas feydj dke 

djsa rks mls fdrus fnu eas iwjk djasxs\ 

  (A) 10 days/ fnu (B) 8 days/ fnu 

  (C) 12 days/ fnu (D) 15 days/ fnu 

55. The rate of simple interest for which sum 

of money becomes 4 times in 10 years is 
lkèkkj.k C;kt dh og nj Kkr dhft, ftl ij dksbZ 

èkujkf'k 10 o"kZ eas 4 xquk gks tkrh gS \ 

  (A) 30%  (B) 40% 

  (C) 50%  (D) 55% 

56. A shopkeeper earns a profit of 15% after 

selling a book at 20% discount on the marked 

price. The ratio of marked price to 

the cost price is- 

,d nqdkunkj vafdr ewY; ij 20% dh NwV nsus ds ckn 

15% dk ykHk izkIr djrk gSA vafdr ewY; dk dz; ewY; ls 

vuqikr gS& 

  (A) 16 : 23  (B) 23 : 16 

  (C) 20 : 27  (D) 27 : 20 

57. Due to price hike of 12.5%, 5 kgs less sugar is 

available for Rs. 180. What is the initial price of 

sugar. 

phuh dh dher ea 12.5% dh of)̀ gksus ds dkj.k Rs. 

180 ea 5 fdxkz - phuh de feyrh gS! phuh dk izkajfHkd 

ewY; D;k FkkA 

  (A) Rs. 4/kg/ fdxzk- (B) Rs. 5/kg/ fdxzk- 

  (C) Rs. 4.5/kg/ fdxzk- (D) Rs. 5.5/kg/ fdxzk- 

58. The average of the student in a class is 27 

years. If 12 new students whose average is 

17 years join the class, then the average 

age is decreased by 4 years. The number of 

students in the class originally is- 
,d d{kk ea]s Nk=kas dh vkSlr vk;q 27 o"kZ gS! ;fn 12 u, 

Nk=ksa dks 'kkfey djrs gS] ftudh vkSlr vk;q 17 o"kZ g]S rks 

vkSlr vk;q 4 o"kZ ?kV tkrh gSA okLro eas d{kk esa dqy 

fdrus Nk= gS& 

  (A) 20  (B) 24 

  (C) 18  (D) 16 

59. If 1
x y

y x
   , then x

3
 + y

3
 is equal to –  

;fn 1
x y

y x
   gS] rks x

3
 + y

3 
dk eku gS & 

  (A) 1   (B) 2 

  (C) 0   (D) 3 

60. If 1
x x a b

a b a b a b


  

  
 , then the value of x 

is –  

;fn 1
x x a b

a b a b a b


  

  
 gS] rks x dk eku gS & 

  (A) a + b  (B) a – b  

  (C) b – a   (D) ab 

61. If a + b + c = –11, then what is the value of (a + 

4)
3
 + (b + 5)

3
 + (c + 2)

3
 –3(a + 4) (b + 5) (c + 2) 

? 

;fn a + b + c = –11 gS] rk (a + 4)
3
 + (b + 5)

3
 + (c 

+ 2)
3
 –3 (a + 4) (b + 5)(c + 2) dk eku D;k gksxk\ 

  (A) 1   (B) 0 

  (C) 3    (D) 4 

62. In the given figure, O is the centre of the 

circle, OQ is perpendicular to RS and 

 SRT = 30°. If RS = 10 2 , then the value of 

PR
2
 is –  

nh xbZ vkd̀fr ea O o`r dk dsanzz g]S OQ, RS dk yEc 

gS rFkk  SRT = 30° gS ! ;fn RS = 10 2  , g]S rks

PR
2 dk eku gS & 

 

 

 

 

 

 

  

 

  

(A) 200 (1 + 3 ) (B) 200 (2 + 3 ) 

  (C) 200 ( 3 – 1 ) (D) 200 (2 - 3 ) 

63. If a chord of length 9 cm subtends an angle of 

60° at the centre of circle, then find the radius? 

;fn 9 lseh- yEch ,d thok] or̀ dsz dsanz ij 60° dk dks.k 

cukrh gS] rks f=T;k Kkr dhft,\ 

  (A) 9 3 cm/ lseh- (B) 9 2 cm/ lseh- 

  (C) 9 cm/ lseh- (D) 18 cm/ lseh- 

64. In an isosceles ∆ABC, A = 110°. If I is 

the in-centre of the triangle, then find the 

value of BIC ? 



,d lef}ckgq f=Hkqt ABC ea]s A = 110° gS! ;fn I 

f=Hkqt dk vr% & dsUnz gS] rks BIC dk eku Kkr 

dhft,\ 
  (A) 135    (B) 145   

  (C) 140    (D) 150   

65. If tan  + cot  = 7, then find the value of tan
3
 

  + cot
3  

;fn tan  + cot  = 7 gS] rks tan
3
   + cot

3 dk eku 

Kkr dhft,\ 

  (A) 343  (B) 322 

  (C) 325  (D) 350 

66. If tan A =
1

3
 and tan B = 

2

5
, then the value of 

tan (A + 2B) 

;fn tan A =
1

3
 vkSj tan B = 

2

5
 gS] rks tan (A + 2B) 

dk eku Kkr dhft, \ 

  (A) 
43

81
  (B) 

81

43
 

  (C) 
27

43
  (D) 

43

27
 

67. If the radius of a wheel is 28 cm, then the 

distance travelled by the wheel in 10 

revolution is- 
;fn ifg;s dh f=T;k 28 lseh- gS] rks 10 pDdjkas eas ifg;s 

}kjk r; dh xbZ nwjh gS& 

  (A) 1320 cm/ lseh- (B) 1980 cm/ lseh- 

  (C) 1760 cm/ lseh-  (D) 1540 cm/ lseh- 

68. Find the total surface area of a cylinder 

having diameter of base as 14 cm and 

height as 15cm? 
,d csyu ftlds vkèkkj dk O;kl 14 lseh- vkSj mWapkbZ 15 

lseh- gS] dk dqy i`"Vh; {ks=Qy Kkr dhft,\ 

  (A) 616 cm
2
/ lseh-

2
 (B) 968 cm

2
/ lseh-

2
 

  (C) 308 cm
2
/ lseh-

2
 (D) 660 cm

2
/ lseh-

2
 

69. If the average marks of 50 students was 30 but 

later it was found that while calculating, 63 was 

taken as 23 by mistake, then find the correct 

average marks of all the students. 

;fn 50 Nk=kas ds vkSlr vad 30 Fks ijUrq ckn eas ;g irk 

pyk fd xyrh ls ifjdyu ds le; 63 dks 23 ys fy;k 

x;k] rks lHkh Nk=ksa ds lgh vkSlr Kkr dhft,\ 

  (A) 29.2  (B) 30.8 

  (C) 32  (D) 32 

70. A invests Rs.76000 in a business. After few 

months, B joins him and invests Rs. 57000. At 

the end of year, share the profits at the ratio of 2 

: 1. After how many months B joined A? 

A # 76000 ,d O;kikj eas fuos'k djrk gS! dqN eghus 

ckn] B mlds lkFk 'kkfey gks tkrk gS vkSj # 57000 dk 

fuos'k djrk gSA o"kZ ds var eas os ykHk dks vuqikr 2 : 1 eas 

ck¡Vrs gSA B, A ds lkFk fdrus ekg ckn 'kkfey gksrk gS\ 

  (A) 2 months/ ekg (B) 4 months/ ekg  

  (C) 3 months/ ekg (D) 5 months/ ekg 

71. The ratio of two numbers are 4 : 5. If 8 is 

add to both numbers, then ratio will be 

22 : 27. The product both number is 

nks la[;kvkas dk vuqikr 4 : 5 gS ;fn 8 dks nksukas la[;kvkas 

eas tksM+k tkrk gS] rks vuqikr 22 : 27 gksxkA nksuksa la[;kvksa 

dk xq.kuQy gS& 

  (A) 8000  (B) 10000 

  (C) 7500  (D) 5000 

72. In what ratio must a person mix two kinds 

of tea costing Rs.75kg and Rs.100kg so that the 

resultant mixture when sold at Rs.96 kg yields a 

profit of 20%? 
,d O;fDr nks izdkj dh pk; #-75 izfr fdyksxzke rFkk 100 

izfr fdykxszke dks fdl vuqikr eas feyk,a fd ifj.kkeh 

feJ.k dks #- 96 ifzr fdykxskze cspus ij 20% dk ykHk 

izkIr dj lds\ 

  (A) 4 : 1  (B) 3 : 2  

  (C) 5 : 4 (D) None of these/ buesa ls dksbZ ugh 

Direction (73 – 75) The line chart given below 

represents the sales (in hundred) of trousers 

and shirts for five months. 

(73–75): 

( )

73. Total sale of shirts for five months is how 

much percent more than the total sale of 

trousers for five months? 
ikp¡ eghukas ds fy, dehTk+ks dh fcdzh ikp¡ eghuksa ds fy, 

iaSVksa dh fcdzh ls fdrus izfr'kr vfèkd gS\ 

  (A) 49  (B) 43 

  (C) 44.61  (D) 45.61 

74. What is the difference between sales of 

shirts for months January and April? 
tuojh rFkk vizSy eghus eas gqbZ dehT+kkas dh fcdzh eas fdruk 

varj gS\ 

  (A) 2500  (B) 1800 

  (C) 1500  (D) 2000 

75. What is the percentage increase in the 

sales of the trousers from January to 

February? 



tuojh ls Qjojh eas iSVakas dh fcdzh eas fdrus izfr'kr dh 

c<+ksrjh gqbZ gS\ 

  (A) 25  (B) 30 

  (C) 20  (D) 15 

Direction: In the following question, a sentence 

has been given in Active/Passive voice. Out of 

four alternatives suggested, select the one, 

which best expresses the same sentence in 

Passive/Active voice. 

76. They will advise me about the price of the 

accessories. 

(A) I will have been advised about the price     of 

the accessories.    

  (B) I would have been advised about the 

 price of the accessories. 

  (C) I shall be advised about the price of the 

 accessories.   

  (D) I would have had been advised about   the 

price of the accessories. 

77. The coach said, "Don’t move, boys." 

  (A) The coach told to the boys don't move.  

  (B) The coach said to the boys not to be 

   moving. 

  (C) The coach asked the boys not to move.  

  (D) The coach told to them, don't move   boys. 

Direction(78-79): Rearrange the parts of the 

sentence in correct order. 

78. We should learn our lesson 

P.  from this history and stay away 

Q.  of our neighbours 

R.  from interfering in the messy domestic 

politics 

  (A) PRQ  (B) PQR 

  (C) QPR  (D) RPQ 

79. Public goods are 

P.  important as they 

Q.  mitigate the impact of 

R.  income, poverty and inequality 

  (A) QRP  (B) PQR 

  (C) RPQ  (D) QPR 

Direction (80-81): In the following question, the 

sentence given with blank to be filled in with an 

appropriate word. Select the correct 

alternative out of the four and indicate it by 

selecting the appropriate option. 

80. Purush wandered ___ through life, with no clear 

ideas of where he was heading and what he 

wanted to accomplish. 

  (A) madily  (B) ezcitedly 

  (C) crazily  (D) aimlessly 

81. The chess player moved his piece to a more___ 

position, securing the win. 

  (A) profitable (B) auspicious 

  (C) advantageous (D) worthwhile 

Direction (82-83): Improve the bracketed part 

of the sentence. 

82. Would it be impolite (to be asked) why they are 

leaving? 

  (A) to ask  (B) for asking 

  (C) for being asked  (D) no improvement 

83. The unfortunate old man was knocked (away 

by) the rash driver. 

  (A) out by  (B) off by 

  (C) by  (D) no improvement 

Direction (84-85): In the following question, 

out of the four alternatives, select the word 

opposite in meaning to the word given. 

84. Acknowledge 

  (A) compliant (B) bent 

  (C) deny  (D) defeat 

85. Abstain 

  (A) pursue  (B) ignore 

  (C) create  (D) fail 

Direction(86-87): In the following question, out 

of the four alternatives, select the word similar 

in meaning to the word given 

86. Invincible 

  (A) declaiming (B) perplexing 

  (C) uninspiring (D) unbeatable 

87. Spurious 

  (A) bitter  (B) gloomy 

  (C) fake  (D) dumb 

Direction (Qs. 88 – 92): In the following 

questions, a part of the sentence is underlined. 

Below are given alternatives to the underlined 

part at (A), (B), (C) which may improve the 

sentence. Choose the correct alternative. In 

case no improvement is needed your answer is 

(D). Mark your answer in the Answer sheet. 

88. I will buy the house provided it is quite 

sound. 

  (A) unless  (B) whether 

  (C) until  (D) No improvement 

89. Hundreds gathered to await for the boxer's 

arrival at the airport. 

  (A) to await   (B) to awaits for 

  (C) to wait  (D) No improvement 

90. We demonstrated to them how we were 

prepared the artistic pattern. 

  (A) are prepared   (B) had prepared 

  (C) have prepared (D) No improvement 

91. The government requires that these forms 



should be submitted before the end of the 

financial year. 

  (A) these forms submission   

  (B) that these forms be submitted 

  (C) for these forms forms to be submitted  

  (D) No improvement 

92. God is omniscient omnipotent, omnipresent and 

omniscient, isn't he ? 

  (A) aren’t it  (B) isn’t it 

  (C) is it  (D) No improvement 

Direction (Qs. 93 to 96): In the following 

questions, out of the four alternatives, choose 

the one which can be substituted for the given 

sentence. 

93. An emolument over and above fixed income or 

salary 

  (A) Honorarium (B) Perquisite 

  (C) Sinecure  (D) Prerogative 

94. The art of making fire works 

  (A) Chromatics (B) Drudgery 

  (C) Pyrotechnics (D) Cosmetics 

95. A women who lures men to destroy them 

  (A) Circe  (B) Amazon 

  (C) Virago  (D) Judas 

96. A person who is physically dependent on a 

substance. 

  (A) Criminal  (B) Martyr 

  (C) Gladiator  (D) Addict 

Direction (Q. No- 97 - 100) : In these questions, 

A passage is given with 4 question following it. 

Read the passage carefully and choose the best 

answer to each question out of the four 

alternatives. 

In 1760, a man named Tiphaigne de la Roche 

made a bizarre prediction. In an imaginary story 

called Giphantie, mirror images of scenes from 

nature could be captured permanently on a canvas 

covered with sticky material. After the material 

dried in darkness, the image would remain on the 

canvas forever. At the time, the idea was unheard 

of. It was not until the following 

century that the concept of photography was born, 

starting with some experiments by Nicephore 

Niepce. Nicephore Niepce, who was a French 

inventor, was interested in lithography, which is a 

printmaking technique. He was experimenting 

with lithography when he found a way of copying 

etchings onto glass and pewter plates using a 

chemical that changes when it is exposed to light. 

He learned to burn images onto the plates and then 

print the images on paper. 

He shared his findings with Louis Jacques Mande 

Daguerre, who improved the process and 

announced it to the French Academy of Science in 

1839. The Daguerreotype, the photography 

method named after Daguerre, met with great 

success. It was so successful, in fact, that French 

newspapers said the said the French public had an 

illness called Daguerreotypomaina! 

Daguerreotypes were inexpensive and were 

suitable for portraiture. People called the 

Daguerreotype a "mirror with a memory." Some 

portrait artists went out of business when 

Daguerreotypes came into vogue. Others became 

Daguerreotypists, now known as photographers. 

97. The term 'bizarre' most commonly means: 

  (A) Humorous (B) Strange 

  (C) Popular  (D) Obvious 

98. When was the concept of photography born? 

  (A) When an imaginary story called 

         Giphantie was born   

  (B) When mirror images of scenes were 

        captured on a canvas. 

  (C) When Roche made a prediction   

  (D) When Nicephore conducted some 

        experiments 

99. What does lithography deal with? 

  (A) A print making technique   

  (B) Copying of etchings 

  (C) Usage of chemicals to make etchings  

  (D) Usage of light in printing 

100. What was the contribution of Daguerre? 

(A) He improvised upon the work of    Roche. 

(B) He introduced the method of photography. 

  (C) He started the print making technique.  

  (D) He could print images on canvas. 


